= AH O
N = 0 &8 AF S & Al A
2000E = 20A LEAFHAXAXN AL EE S H
S JE 2 A
H: UEAZTHIY He
G YHAFHIG J2ANIAG (LHAFTHT AR AN S LG A) (Ste-&3)
5 T bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
JI & 2FALA! 1,703,128 1,626,452 76,676
SAAFHIS N 1,682,464 1,606,482 75,982
SHAMAFHI Y JI2XNIANL(LEAZHI AR RALS 1,682,464 1,606,482 75,982
SEY3H)
XM 2 10,308 10,220 88
101 el H] 3,708 3,620 88
10 JIZHZ22XNsEES 3,708 3,620 88
OGlOIMES& Ald=222l 30,900& x120 3,708
201 LBt 3| 2,600 2,600 0
01 AtR22ldl 2,600 2,600 0
O etx=2H| 2,600
osMsXl 2 20,0002 308 A 600
OxZglgI EY32Y 200,000 *5H 1,000
OdHssE 2 1,000
203 YER=&H| 4,000 4,000 0
03 AMFAAIFZAHI 4,000 4,000 0
OYUMAXIRAANY 203 M= 3,000
OHIMNLXESAH3 32 1,000
LASTU & SSAIEAMY 1,329,328 1,271,452 57,876
401 AlEHIZE20H| 1,329,328 1,271,452 57,876
01 Al&HI 1,329,328 1,271,452 57,876
OBBANEANY L ASSUHAIY 1,329,328
SRALS 300,000 280,000 20,000
501 X2 300,000 280,000 20,000
01 QUASX2 300,000 280,000 20,000
OJIYRX ¥ F0=2X B2 300,000
ol gyl 35,828 34,810 1,018
801 0iigldl 35,828 34,810 1,018
01 ofdlsl 35,828 34,810 1,018
@] |Ns] sl 35,828
g2 s 7,000 10,000 A 3,000
802 Etet=2JIEt 7,000 10,000 /3,000
03 UY=2S 7,000 10,000 23,000
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30,9003 1 +300!

9,270,000 x4/ 12&

5,8003 x 1B »43A1 2t x 128

30,9003 1«52
30,9002 x 12 »18

9,270,000 *1/10
150,000& »1& 128

7,0003 x1E «54x123

20,664
9,270
3,090
2,993
1,607

557
927
1,800

420

19,970

694




